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There are 30 questions in all.
All the questions are compulsory.
Questions number 1 to 8 are multiple choice questions carrying 1 mark each.

Questions number 9 to 14 are short answer questions carrying 2 marks each. Answer

to each of these should not exceed 50 words.

Questions number 15 to 20 are short answer questions carrying 4 marks each.

Answer to each of these should not exceed 100 words.

Questions number 21 to 24 are long answer questions carrying § marks each. Answer
to each of these should not exceed 150 words.

Questions number 25 to 30 are long answer questions carrying 6 marks each. Answer
to each of these should not exceed 200 words.
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TR 99¢ & g Teh WigY™ 93y 9iia foran 1 S99 vRda 9fay & 1
@e 111 g1 YSd ATYHR bl Hidd Y fed1| 9N S=uad =I™ed 3 S
HIMEH STfeRT T SUANT i gU & X e
(F) TrRY W
(@) =t gAfders
(1) SHfed afaeht (afserer g wfeiom)
CIEIEED
A constitutional amendment was passed by the Indian Parliament which
abridged rights conferred in Part III of the Indian Constitution. The Supreme
Court of India invalidated the said amendment by using the power of :
(@) Locus Standi
(b) dJudicial Review
(¢) Public Interest Litigation
(d) Writs
3 P.T.O.
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32 98 & ot ffaa o1 & Hg WaR & favafaae § gere Thm g
foran T | 3EA foeedt foeafoamme™ 9 wa. sl 2012 ©, TH.€1.9, § TA.TA.TH
2014 ¥ oo € R oM ¥ fooett favafaemea @ fafy § 0. o€ = @I 2

fafyr ¥ werEe weaus U & fau favafaemaa g1 @ U U Acs 9

o IHCER %I 39 30-35 99 BT =MET

A C N
[

o A UTW YR fovafasned ¥ Ta. U / TA. . TH. H 301 2H1 916U |

o HAl UK AR fovefarmem @ ISt El. de(fafy) wdhen | Sl g
=1feq = fafy # f.w=.E g =fen

T el 4t w99 S WaeRR § witAferd gan o, 399 3% fygfe &l g
T gt & € R e wifae R #1 81 % frafa & st e amp 2t ?

(%) Bfoerg widg

(@) #=a9

(1) =l IR

Q)EICRIN
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Mr. Nikhil aged 32 years, was appointed as Assistant Professor in Law in a

Central Government University. He has completed LL.B. from Delhi
University in the year 2012 and LL.M. (Masters in Law) from M.D.U.
University in the year 2014. Presently, he is pursuing PhD in Law from Delhi

University.

The eligibility criteria as laid down by the University for the post of Assistant

Professor in law, was :

Candidate must be of 30 - 35 years old, and

Should have passed LL.B./LL.M. from a recognized Indian University

Should have cleared UGC NET (Law) exam or have completed PhD in

Law from a recognized Indian University

Another Candidate, Mr. Rupesh who appeared for an interview conducted for

the above post challenged the above said appointment of Mr. Nikhil and moved

the High Court and invoked the writ jurisdiction.

Which writ would be applicable in the above situation ?

(a)

(b)

©

(d)

Writ of Habeas Corpus

Writ of Mandmus

Writ of Quo Warranto

Writ of Certiorari

P.T.O.
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IRATE Gfae™ & A=s8 253 & Adid %! TR F1 Ar] A H
AR 71

(F) 9Ra &1 TLufd 3R 9Rd &1 949
(@) 99 TWHR AR T THR
(T7) TEE AR HY TWHR

~

(F) T TWHR 3R qRG F1 qegufa

Under Article 253 of the Indian Constitution have the power to

1mplement treaties.

(a) President and Parliament of India

(b) Union Government and State Government
(¢) Parliament and Union Government

(d) State Government and President of India

e ST e AT €U TE. T (DLSA) | wnfae # .

(F) A=A &F €9 | a1 9191 IR TE FL & T&F TR & R TF TEHR
& TS ¥ g e e

(W) 21eAe] & ®Y | 5ol 919 991 [T TWHR &GN TR HIS & TG AT
& WY 9 Mg 3 95w

(1) SIemel & ®Y H e oS 3R 9IRG & YYUH <Ry gR 9 WHR AR
& <Y & 26w & WA 9 e o ges

(%) A % Y H e S q91 TERE o A FEE 5 9NG & THH
=ty & THd 9 w7 ges
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District Legal Services Authority (DLSA) consists of :

(a) The District Judge as Chairman, and other members nominated by the
Chief Justice of High Court in consultation with State Government.

(b) The District Judge as Chairman, and other members nominated by the
State Government in Consultation with Chief Justice of High Court.

(¢) The District Judge as Chairman, and other members nominated by the
Chief Justice of India in consultation with State Government and Chief
Justice of High Court.

(d) The District Judge as Chairman, and other members nominated by the
Chief Justice of High Court in consultation with Chief Justice of India.

forad faea o1 it ®, ST =i &1 Argar o favafoened @ aifagm # «iw

~

T a1 B, 9% TA.TA SN HA Awd ¢l fowed & fefatad § 9 few areus
T oS o1 82

o

(%) Tsue fewim 9 offe ifeeds = (GDLPC)

(@) USue fewmn &9 «f %" (GDL)

o~ ¢

(1) INe fewmr 31 dhsEa ¢ & (GDPTC)

o

(%) I§ue T 31 GhsHd SHHAYE (GDPE)

7 P.T.O.
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Tristan is a citizen of United Kingdom. He has completed B.A. in Psychology

from recognized University of United Kingdom. He wants to pass LL.B.
Tristan i1s required to enrol himself in which of the following course ?

(a) Graduate Diploma in Legal Practice Course (GDLPC)

(b) Graduate Diploma in Law Course (GDL)

(¢) Graduate Diploma in Professional Training Course (GDPTC)

(d) Graduate Diploma in Professional Examination (GDPE)

TS 9Rd &1 TN § IR Il 9T Tedihe g1 98 2000 H 98 I Y9
T Sfefore afsege g ga1 g, 2006 § 397 39 98 9 @M9s < foan|
2006 H 39 faoell BRI § Tgdihe & ®Y H Gfeeq YRY X < 3 9 9 91

HH B W gl 2016 § Aaied fhg 18 W Fgfa & I/ gmm -

() hdd BEhIS T AT

(@) TERR AR AW DI ST h1 AT

(M) ad e 59

(%) %had gIH HIe H I
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Nilanjan, is a citizen of India and a qualified Advocate. In the year 2000, he
was appointed as a Judicial Magistrate in Uttar Pradesh. But in the year 2006,
he resigned from the post of Judicial Magistrate. He started practising as an
Advocate in Delhi High Court in the year, 2006 and since then he is practising
as an advocate in Delhi High Court. In 2016, Nilanjan is eligible to be
appointed as :

(a) High Court Judge only

(b) Both Supreme Court and High Court Judge

(¢) District Judge only

(d) Supreme Court Judge only

1940 ® &M A Teh A 9T fovafaened @ 1.0 § 9%erdl 9T i | 98 9Rd
T ek "witel’ a1 =Imedl 911 39 Wi ol qde ur S off 59 teeareed
TaR 1961 o @] BF ¥ T8al & gR STEifed fomam STam e

(F) TR H &I

(@) BE ®IE

() guH ®re

(%) Wpie e

1

9 P.T.O.
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In the year 1940, Naveen passed B.A. course from a recognized University.
He wanted to become a ‘Pleader’ in India. He was required to pass the
‘Pleadership Examination’ which was held by the prior to the
enactment of Advocates Act, 1961.

(@) Mayor’s Court

(b) High Court

(¢) Supreme Court

(d) Mofussil Court

AT AR Arhrga Tfufad 2005 & SAdd AT Hadl & AW |
IRA & T8 JIEE W P IR YPER & AT @ T AT -

(F) I8 gamEs % fovg 9 o THha1 § Hifh E-TaEHA off ARk iR
dehga SAfufEd 2005 % HHIES & Sfavd STl ¥

(@) qa-gumE % faeg S= T = geha Fife haa fagme gamdst &
AT SR AREE STTIH 2005 & a1l T

(1) ST FR Hehdl § il IRAE FIUH F o8¢ 105 & WEHMI & 3TTHAR
o - & ot Ak 3R atRgaa SIfufTem 2005 % sfda S |

() W & R Fehal i Jo-FUFH HT HiYq TR0 AT Heowi g
Teferd & S cllehdTat iR dreRgad stfufem 2005 & HHIET | TR T

10
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Allegations of bribery and corruption were made against the ex-prime minister
of India, in matters pertaining to International relations under Lokpal and
Lokayukta Act, 2005. The Lokpal :

(a) can conduct inquiry against ex-prime minister as even ex-prime minister
1s within the purview of Lokpal and Lokayukta Act, 2005.

(b) cannot conduct inquiry against ex-prime minister as only the conduct of
acting prime minister is within the purview of Lokpal and Lokayukta Act,
2005.

(¢) can conduct inquiry as provisions of Article 105 of Indian Constitution
will be applicable which will bring the conduct of ex-prime minister within
the purview of Lokpal and Lokayukta Act, 2005.

(d) cannot conduct inquiry as the alleged conduct of ex-prime minister is
related to International Relations which is outside the purview of Lokpal
and Lokayukta Act, 2005.

s TR o FHAN oft T o faeg STIRIEATHS il URH ge | ST
gfafq gwqa w3t € fF ot deg 1 Janedi 9§ svEra a1 fean 9 8iR 3-12-2005
1 YA I T SR TG A T | ST FiHfd & g Sire ARy i
e =t ufa 4t @ =1 7 @

1 N9 Giufd &1 wEaRl FEifad €2 T W % faw 9 <

Disciplinary Proceedings were started against Mr. Lakshay, a Central
Government employee. The Disciplinary Committee recommends for dismissal
of Mr. Lakshay from services and passes the dismissal order on 3-12-2005.
The copy of the report of the inquiry of officer was not supplied to Mr. Lakshay
by the disciplinary authority.

Whether the action of disciplinary authority is justified ? Give reason to your
answer.

11 P.T.O.
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St Tt 1990 9 fooell 359 =@ 991 YR & Haied =R | ifees w3
AT FThi &1 I AT AT SAIE I i T T W ¥ 1 ArIeneT §
3 HMAR W FTA-The I JeTh Ad §, Tl § The d¢ 3R el W R
ST Tl TS U8d & | 18 e 2015 ! off Hgar 4 off Tt 9 e gueh &
3% e =maed & T g & faeg s § ordia & fau Tu1 Tedithe
g foram off Tt 7 397 WSl Yok F TUH Tk A FYT RN FHI
fou s19fd o1t € g7 9 fo o See . St Tl 3 aehied i U]
AT IRY R e Hife ordia 3 &1 sifaw fafy 29 Fd«rX 2015 ot |

(®) &t @ TEAthed UFR 1961 & §RI AT &I Ifesm il &1 fod
goft § o1 ¥ 2

(@) TEalhed Ta 1961 & JEHMI & Fad =1 ot T 1 =R 3fad 8 2

o o

o Hfga fafe |

Mr. Swami is a qualified Layer practising since 1990 in High Court of Delhi
and in the Supreme Court of India. He is having special knowledge and
expertise in the field of Civil and Criminal Laws. While appearing in a
courtroom he usually dresses in black and white, wears a white band around
his neck and a black gown having flaps on the shoulders. On 18 November
2015, Mr. Mehta directly approached and appointed Mr. Swami as his
advocate, to file an appeal in the Delhi High Court against the decision of
District Court. Mr. Swami accepted ¥ 1 lakh in cash as his consultation
charges. On 19 November, 2015 i.e. on the very next day, without wasting
any time Mr. Swami started drafting pleadings as 29 November, 2015 was the
last day to file the appeal.

(a) Mr. Swami comes under which category of legal practitioner as recognized
by the Advocates Act, 1961 ?

(b) Giving reason, state whether the conduct of Mr. Swami is justified as per
the provisions of the Advocates Act, 1961 ?

12
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foRfHa TSR &I (Cr.PC) & Siavtd M: ek T W&l & fau s greem

2 2 yEuHl gR Hid TRl < godli 1 Sooie it |

What are the provisions of free legal aid available under Criminal Procedure
Code (Cr.PC) in India ? State any two values communicated by these
provisions.

T T9a 9ufd o ISR AR weol o IR H Siodl 3fear R of vaw & o=
T foare o1 faee & 9ell 3 39T TWad 3991 9 &t Higd &l s fuel e
T % ¥4 H A€ g0 w4 o fou fgaa foan, ot 9iee 7 A qere 9 W
%M Tl § Furfad woemi w1 gea off fon aife S <@l oIR STel # '
f1ehal |k |

SEdw fRafd # defeqs foae f9eM (ADR) & €9 # &t Hied &t yfdes &1
IeCTE Hife |

There was a dispute between Ms. Udita and Mr. Bhavesh regarding title and
possession of an immovable property. The parties to the dispute, out of their
own free will appointed Mr. Mohan a neutral third party to resolve their dispute.
Mr. Mohan acted not only as an interventionist but also suggested potential
solutions to the parties, in order to resolve their claims and disputes.

State the role of Mr. Mohan as an Alternative Dispute Resolution (ADR) in
the above given situation.

fasfter Tan etfeentor sifufem, 1987 59 i H M ?

How did ‘Legal Services Authorities Act, 1987 come into being ?

13 P.T.O.



14. T9H UBAN 9 Teh YRAT 91l Hhide a1 739 1 T W ocd, Teh Hfed

15.
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STl AN o d19 FHSAA P @I o 24 & aR | T o0 8, SHi a3
A9 foare &1 9’ w1 & fau S0 wEaR YRY & & fdu Teh T &l
e foRan, Heaweral &1 wEiaR! wAel § gs AR iU yrRa o @m gl

Srda gRfeafa § ff=l 1 gRR &t e (STfeeeH) i TgdM a1 AT
HIfSTT |

There 1s dispute between an M/S Rohtash Bros. an Indian Body Corporate
and M/S Garry and Fern Bros. a Canadian Body Corporate, regarding breach
of contractual terms. Both Companies appointed an institution for initiating
the process required for settlement of their dispute. Arbitration proceedings
were conducted in Canada and the award was enforced in India.

Identify and explain any two types of Arbitration mentioned in the above
situation.

“aRa " SOl 1 TWad Yefkefd (WeH) AR IHE g A9 SH - et
JfFed T & faes & © 7o ©.. 1

30 Heo § 37 fafirer graami sl T hifee S =rneish st Tdsan SR fogerd
] anfee (H=82) +id 21 (hiE 9R)

‘The independent status of the judiciary in India and the roles to be performed
by it can be understood as two sides of the same coin....” In this context, explain

the legal provisions which mandate judge’s independence and impartiality.
(Any four)

14
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o T Gy off | 3§ SreEar ® I A $© wal o IR H I <% § Th fae
IO B O SH S Y WY U WYk 9o Tl 8 1 AeAciS J Gy
AT ! AFA 9 SRR R fear| 3o difed IR 7 A =
1CJ) ¥ WY & fau gush foean)

(%) 1 FATALT =TT (CJ) 3797 Wl @ Tehar1 €27 Ife & q1, fohe qraem
& 3iqTid ?

(@) AT =A™ (ICJ) & WY T & FHET 61 Seaid i |

o

() ST =& & gl §afod Tl 1 godi 1 Seei@ St |

There was a treaty between two neighbouring countries namely Arunland and
Poratia regarding sharing of special economic zone. A dispute arose between
them regarding fulfilment of certain terms and conditions of this treaty
obligation. Both the countries are not members of United Nations. Arunland
refused to fulfil its treaty obligations. Aggrieved by this, Portia approached
International Court of Justice (ICJ) for its advice.

(a) Can International Court of Justice (ICJ) give its advisory opinions to the
country ? If yes, under which provision ?

(b) State the advisory jurisdiction of International Court of Justice (ICJ).

(c) State any two values communicated by International Court of Justice.

15 P.T.O.
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() hetd TR hi G 1 § 2

(@) S AfYR & I’ e fafgn |

With regard to the responsibility of the Central Government to provide legal
aid service :

(@) What is the composition of Central Authority ?

(b) State any four functions of the Central Authority.

difger Tuer = 82 difgsw HUel & fH=l 99 YRRl 1 TR Hifo |

What is Intellectual Property ? Explain any three types of Intellectual
Property.

A HEEIY o Th <9 § &MA IR Fom 990 o1 SAfUeRr shae faentae &t
B IR et 1 fa9y YR % Fed w UK A Hi STAM T A
1 ffaer Gfra T Iel 9% 6 <8 9 # o wfeg gt fam &1 egafa
gl

(%) = foamd (TeSfehsm) & f7e gumelt & faia o § 2

(W) I8 I fFE = Jomelt 1 STTTHA HaT © 2

() IR TEaH *i TE foared (TSfehvd) Jumelt & Tk o1 3R T g1 &
3@ Hifeg |

16
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In a Continental European Country, only the legislature has the power to
create laws and rules. Here the judge 1s allowed to decide the presentation of
specific form of evidence and the role of judge is active one in a way that he is
even allowed to take active part in investigation.

(@) To which system of adjudication does the judge belong to ?

(b) State the type of jurisdiction followed in this country.

() State any one advantage and any one disadvantage of the system of
adjudication identified above.

IRATT Gfge™ & @< I § 94 ' Ha Afueil’ & greagm & ged ¥ frefafea
frarfrl W fo=m T 3R ® MU 9941 & W AW

(F) T IHR 7 3 A= Sl IR ATgFaa St bl drersi-eh i
T e YoM fran e wafw gfafifye Ta & oiarta Sensti § -1
SIS

(@) T T RmEe § 3 30 Ts gesiTes &0 ¥ ya9 76 & fea
T Hifer a8 fuse ot 9 g

() UM g=Ed 3 get (18 9H) q«”n A (20 99) & foare @t erqwfa &

() ST fafal § 9 35wt wgar sifve o qa Afarl & gegE &6
ST gl T

(i) YR GG & @< 111§ Y84 Jol SATURR o JEUH o el d Todoh
ferfa o1 Heish sifeT 3R 39 W fewut wifs

17 P.T.O.
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With regard to the provisions of ‘Fundamental Rights’ enshrined in Part III

of the Indian Constitution, Consider the following situations and answer the

questions that follow :

(a)

(b)

(©)

@)

(i1)

State government gave reservations to Scheduled Castes, Scheduled
Tribes in public employment, who have not been adequately represented
in the services under the state.

Dipender is a rickshaw puller and was not allowed to enter a public
restaurant because he belonged to a backward class.

Marriage of Khushi, aged 18 years and Yash, aged 20 years was
disallowed by the village panchayat.

Identify the situation from the given excerpts where a provision of
fundamental rights has been violated.

In the light of the provisions for fundamental rights enshrined in
part III of the Indian Constitution, Evaluate each situation and comment
on it.

ST & § AHaNUhRI &l dg@l o AR 37! & & & fau gl
FHavHl Rl GAART |

Explain any two conventions for promoting and protecting Human Rights in

International sphere.

18
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(%) 2 a1t Aftersia § o1 wfmfoad 872

(@) &RU <d gL AAT FifGe T w1 Frafafeaa &6,  smmayrt’ & sidta s
T?

FIET Aty & FHAMT 7 el & Tk U2 &l M9 & g9 Qe AR 39
gl B foa1 | IBH W T hiod ¥ Th1 W W il SIS Al 118 9 &
el U9 951 T W@ o, 98 30 I @R Here B iR T 3@ 9 ot |

(a) What Constitutes Tort of Negligence ?

(b) Explain with reasons whether the following act constitutes ‘negligence’.

The employees of Care Cell Telecom opened a manhole in the street and in
the evening left that manhole open. They covered it with canvas shelter, but
left it unattended. Prince, 8 years old boy, who was playing there, stumbled
over it and fell into the manhole and sustained injuries.

IRA IR THAReH § fafu-fen (e Tserem) 9 Fafya i &1 ga sifag |

Compare the rules regarding Legal Education in India and the United States
of America.

5

19 P.T.O.



24, (%) YR Hiau™ & R Wiha ‘Wiwhias AR Afew ASRI ' HT A
RIS |

(@) IR = fFu T ‘gienfae iR s Ifuerl & oee § e & T
fegfadi o1 THisTcHe 3T hifSI |

() e H TS HWeEdl T Ueh faamerd 3 Wad ol Jo9 o7 § T
feam iR SHeh! HIGHTS S7TeT © AR 38 gStet (T[eq@l) el Fwe |

(i) dTfties ooe § 38T & falq TR 7 W& 991 9 g1 e e 5H
Aol Thall o Al T 36.5 S 31K T 16.5 S HfHT sTeqd&dsi gl

qdTferd Thall o faw A foram |

(a) Explain the ‘Cultural and Educational Right’s as granted by the
Constitution of India.

(b) Critically assess the situations given below in the light of ‘Cultural and
Educational Rights’ as explained above :

(1) A government aided school in Punjab denied admission to Rachit

because his mother tongue is Bengali and he does not understand
Punjabi (Gurumukhi).

(1) In the annual budget for education the state government allocated
T 36.5 crores for government and state funded schools and ¥ 16.5
crores for schools run by religious minorities.

25. TS Afget RN & TeA IR fodl 318 YHrl &l THEET |

Explain the constitution and any eight functions of National Commission of
Women.

40 20



26. 97 Ufd &l & L & U Al SR k1 370 TRaRes O sfact fag & 6
19 IRER fohan o1 3Tt 9fd Tfehan WRmTH of 3R Wl Saad & &
T F® a5 S T w9 o 39k I BT o911 T & 39eh1 9fd SR
o 3R 98 ITH AL $© O AR | 98 <A1 SAAT HL a6l el el & 9 W
<1 3Tk 9fd A Tad! ¥ 39 @ forn oI W T a7 =X TSIk swfaey o
H TR ¥ I AR H P H T feA o9 9% yfew wwet # off o s
AfEell HiEdd i T HeHl 9dE IR T4 W @ FK [ |

(%) N qafaey ®R g fean T qFm Ty Wihfd (FRRYE) AT WEAT

(Tefiyd) &7 R 9fgd I R

(@) wiefd (Tefaem) aur 39y @iefd (F7RvH) | &5 9R AR fafew

Palvinder Kaur was arrested for murder of her husband along with their family
friend Arvinder Singh. Her husband was hobbyist photographer and used to
keep handy photo developing material which is quick poison. One day, her
husband was ill and she brought him some medicine. The medicine was kept
near the liquid developer and her husband swallowed it by mistake and died.
She got afraid and with the help of Arvinder Singh, she dumped the body in
the well. When she was in Police custody, she told the whole story to one of
the Lady Constables and expressed her grief over the matter.

(a) Will the statement given by Palvinder Kaur amounts to Confession or
Admission ? Give reason for your answer.

(b) State any four differences between Admission and Confession.

40 21 P.T.O.
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(%) #Afgard iR fafe =eaam

(@) 9Ra ¥ fafammet & fau yrd fafug aiteg grr Ryl saearteen eamems
(Sforem)

Write short notes on the following :

(a) Women and the Legal Profession

(b) Professional Ethics for Lawyers in India, as laid down by Bar Council of
India.

991 9% H JIX T TH @M A1 IHA 28 AR 2015 HT GIeH dh h
T3 TH. (ATM) ¥ ¥ 5,000 Tt | A919 9@ Fad T 4,000 T & et TR off
3T @A ¥ T 5,000 Tt fT@TT MU 399 A 70 da st o foera &t
g % 1,000 e fRreprrd & ac Wt @d # shfee &l g

(F) 9IRA ¥ 914 iR g & fau S &9 § I simgeavd &1 Jgam Hifee |

(@) T T 3 IS ¥ T FR Hohdl ¢ T Ioor@ IR @€ ‘&' |

¥ ? SR gfed S ST

(M) 3fe Fqoi Sifehm &= o FE Tgfa & g4 a1 & TR § fRE a9 =
o e T & it FPRET § T S @ @ foRg stfyeRtor & 9 T SAfER
T2 9% 97 IR fou SH areht afafafml +1 Seor@ wifew)

(%) foae fyem #hfH # AHIgaq T & 81 & T& Y fafay |

22
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Nupur maintained an account with Bena Bank. She withdrew an amount of
3 5,000 from the ATM of Potak bank on July 28, 2015. The cash dispensed by
the machine was only I 4,000. However, her account was debited by I 5,000.
She immediately lodged the complaint with her Bank officials but ¥ 1,000 was
not credited back to her account even after repeated complaints.

(a) Identify the Ombudsman within India to investigate and resolve
complaints related to the banking sector.

(b) Can Nupur approach this Ombudsman identified in part (a) above ? Give
reason for your answer.

(c) If the functioning of the entire banking sector is to be put under a vigil
to avoid any issue of poor service, which institution has the authority to
do so ? State the area activities to be performed by it.

(d) State one advantage of the Ombudsman in the dispute resolution
mechanism.

o o

Teeu 3R T shifwe fo frafafeg frafal § v & gat=a =™ g/

fhd YR 1 =ATF-QTHRR ] T S ?

(F) TS & T FH & IR T 9RG & I A H IR g |

(@) HesIe A & fhdl AMe &l YR o TUfd, YR & Haied A
I FfHd & B

(1) Taleg IEed § o T8H & gR T SaMT Ada SRR it T8 5 fag
BRI §RI Gl thehe 3TF TId R =&l fwmar mar o)
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Identify and explain which type of jurisdiction will be applied by the Supreme
Court of India under the following given situations :

(a) A dispute arose between two states in India regarding sharing of river.

(b) President of India refers a matter of public importance to the Supreme
Court of India.

(¢) A civil appeal was filed by Mr. Rajan in the Supreme Court of India for
which certificate of appeal was not granted by the High Court.

30. W¥ME TNTe |iddst SeifEl, 2010 & YH@ AU & IR H fawr ¥ fafaq|

40

Write in detail, broad features of National Legal Services Authority
Regulations, 2010.
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